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  Mark the letter A, B, C, or D to indicate the word whose underlined part is pronounced differently from the rest in each sentence.
Câu 1. A. headaches
B. wishes 

C. researches


D. bushes   
Câu 2. A. apply    

B. maximum  

C. cactus


D. national
  Mark the  letter A, B, C, or D to indicate the word that differs from the rest in the position of the main stress in each of the following sentences. 

Câu 3. A. economy                   B. picturesque             C. popularity  

D. politician            
Câu 4. A. enjoyment                B. attraction                C. organism            

D. prevention                    
  Mark the letter A, B, C, or D to indicate the correct answer to each of the following sentences. 

Câu 5. ______ he arrived at the bus stop when the bus came.


A. Not until had
B. No longer has
C. Hardly had
D. No sooner had
Câu 6. Only after food has been dried or canned ______.


A. it can be stored for later consumption

B. was it stored for later consumption

C. should it be stored for later consumption

D. that it is stored for later consumption
Câu 7. Dr. Smith is the person in ______ I don’t have much confidence.


A. him
B. that
C. whom
D. which
Câu 8. Conservationists are finding solutions to protect wildlife animals from ______.

A. extinctive
B. extinct
C. extinctions
D. extinction
Câu 9. She asked John to repeat what he had said. 


A. “Will you please repeat what John said?” she asked. 

B. “Please repeat what you said, John,” she said. 

C. “Please repeat what you said to John,” she said. 

D. “You have to repeat what you say, John,” she said. 
Câu 10. Is it essential to meet your aunt at the station?


A. Was your aunt met at the station?

B. Did your aunt have to be met at the station?

C. Does your aunt have to meet at the station ?

D. Does your aunt have to be met at the station?
Câu 11. What ______ views do young Americans and young Asians have about love and marriage?


A. traditionally
B. tradition
C. traditional
D. traditionalism
Câu 12. Without his help, I __________ the previous project on time.


A. didn’t finish
B. would have finished

C. wouldn’t have finished
D. hadn’t finished
Câu 13. Working hours will fall to under 35 hours a week, ______?


A. will it
B. will they
C. won’t it
D. won’t they
Câu 14. Hurry up, or the train ______ by the time we get to the station.


A. are leaving
B. would leave
C. will have left
D. left
Câu 15. Although the exam was difficult, ______ the students passed it.


A. a few
B. a lot
C. most of
D. most
Câu 16. The students in this class, ________ are from the provinces, are having trouble
finding decent accommodation.


A. many of that
B. most of whom
C. almost of whom
D. all whom
Câu 17. This is ______ the most difficult English test I’ve ever done.


A. by chance
B. by myself
C. by heart
D. by far
Câu 18. Nowadays many people don’t find ______ ends meet.


A. it to make easy
B. it easy make
C. easy to make
D. it easy to make
Câu 19. - “Would you like to go for a picnic with our class this weekend?”
                       - “_____________”


A. Yes, you’re a good friend. 
B. Do you think I would?

C. Yes, I’d love to. Thanks.
D. I wouldn’t. Thank you.
Câu 20. He is a typical ______. He is always outgoing and socially confident.

A. optimist
B. pessimist
C. extrovert
D. introvert
Câu 21. Your house looks very old.   It needs __________.


A. being redecorated
B. to redecorate
C. redecorated
D. redecorating
Câu 22. It’s about time you _________ harder for the next exam.


A. have worked
B. worked
C. work
D. are working
Câu 23. Tom: “______________.” John: “Thank you for your compliment.”


A. You look pretty in this dress
B. This is a present for you

C. You’ve done your work
D. I’m glad that you’re well again
Câu 24. Bill managed to walk to the bus stop  himself ______ his leg was broken.


A. although
B. because of
C. in spite of
D. because
Câu 25. Had she studied  harder last summer, she ______ the national entrance exam.


A. wouldn’t have been failed
B. wouldn’t fail

C. wouldn’t be failing
D. wouldn’t have failed
  Mark the letter A, B, C or D to indicate the sentence that is closest in meaning to each of the following sentences.
Câu 26. I don’t have enough money with me now; otherwise I would buy that coat.


A. If I had enough money with me now, I would buy that coat.

B. I didn’t have enough money now, I wouldn’t buy that coat.

C. If I had enough money with me now, I wouldn’t buy that coat.

D. If I didn’t have enough money with me now, I would buy that coat.
Câu 27. I haven’t eaten this kind of food before.


A. This is the first kind of food I have eaten.

B. Even before I have not eaten this kind of food. 

C. I haven’t eaten this kind of food already.

D. This is the first time I’ve eaten this kind of food. 
Câu 28. He is proud of being the captain of the national football team.


A. The captain of the national football team is proud of him.

B. Being the captain of the national football team prides him.

C. He gives a pride in being the captain of the national football team.

D. He prides himself on being the captain of the national football team.
Câu 29. The lesson we learnt last time was more difficult than this one.


A. We learnt an easy lesson last time and a difficult one this time.

B. This lesson is not as difficult as the one we learnt last time.

C. This time we have to learn the most difficult lesson of all.

D. The lesson we have learnt this time is not difficult at all.
Câu 30. The girl was not allowed to play the violent games, so she felt irritated. 


A. Deprived of playing the violent games, the girl felt irritated. 

B. Playing the violent games, they made the girl feel irritated. 

C. Having played the violent games, the girl felt irritated. 

D. Not having played the violent games, the girl felt so irritated. 
  Mark the letter A, B, C or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following sentences.
Câu 31. John was so insubordinate that he lost his job in one week.


A. disobedient
B. obedient
C. fresh
D. understanding
Câu 32. He had never experienced such discourtesy towards the president as it occurred at the annual meeting in May.


A. politeness
B. rudeness
C. encouragement
D. measurement
  Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following sentences.

Câu 33. It is believed that the plane crash was caused by electrical malfunction of its navigation system.


A. breaking in
B. breaking through
C. breaking up
D. breaking down
Câu 34. “Edwards seems like a dog with two tails this morning.” – “Haven’t you heard the news? His wife gave birth a baby boy early this morning.”


A. exhausted
B. very proud

C. extremely disappointed
D. extremely happy 
  Read the following passage  and mark the letter A, B, C, or D to indicate the correct word(s) for each of the blanks from 35 to 39. 

Interest in undiscovered human-like creatures continues to be widespread.  Everyone has(35)_____ of Yeti, and its North American “cousin” Bigfoot, but since the last century there have been(36)_____ of the existence in Australia of another, less famous creature-the Yahoo. In 1912, a Sydney newspaper(37)_____ an account by Charles Harper of a strange, large animal he observed (38)_____ the light of his campfire: “ Its body, leg and arms were covered with long, brownish-red hair, but what struck me at most extraordinary was its shape, which was human in some way, yet at the same time very different. The body was enormous, (39)_____ great strength. The arms were extremely long and very muscle”.

Câu 35:  


A. noticed
B. heard
C. known
D. understood
Câu 36:  


A. reports   
B. arguments  
C. statements  
D. proofs
Câu 37:


A. delivered 
B. printed 
C. declared  
D. typed  
Câu 38:  


A. with   
B. under
C. by  
D. at  
Câu 39:  


A. indicating   
B. describing
C. announcing  
D. pointing  
  Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

The handling and delivery of mail has always been a serious business, underpinned by the trust of the public in requiring timeliness, safety, and confidentiality. After early beginnings using horseback and stagecoach, and although cars and trucks later replaced stagecoaches and wagons, the Railway Mail Service still stands as one of America’s most resourceful and exciting postal innovations. This service began in 1832, but grew slowly until the Civil War. Then from 1862, by sorting the mail on board moving trains, the Post Office Department was able to decentralize its operations as railroads began to crisscross the nation on a regular  basis,and speed up mail delivery. This service lasted until 1974. During peak decades of service, railway mail clerks handled 93% of all non-local mail and by 1905 the service had over 12,000 employees.

Railway Post Office trains used a system of mail cranes to exchange mail at stations without stopping. As a  train approached the crane, a clerk prepared the catcher arm which would then snatch the incoming mailbag in the blink of an eye. The clerk then booted out the outgoing mailbag. Experienced clerks were considered the elite of the Postal Service’s employees, and spoke with pride of making the switch at night with nothing but the curves and feel of the track to warn them of an upcoming catch. They also worked under the greatest pressure and their jobs were considered to be exhausting and dangerous. In addition to regular demands of their jobs they could find themselves the victims of train wrecks and robberies.

As successful as it was, “mail-on-the-fly” still had its share of glitches. If they hoisted the train’s catcher arm too soon, they risked hitting switch targets, telegraph poles or semaphores, which would rip the catcher arm off the train. Too late, and they would miss an exchange.

Câu 40. The word “elite” in the second paragraph is closest in meaning to_____ .


A. majority
B. superior
C. leader
D. more capable
Câu 41. Which of the following can be inferred from the first paragraph?


A. The Post Office Department was more concerned about speeding up mail delivery than the safety of its clerks.

B. The development of the mail roads during the second half of the 19th century enabled Post Office Department to focus on timeliness.

C. Mail was often lost or damaged as it was exchanged on the mail crane.

D. There was a high turnover of railway mail clerks.
Câu 42. Which of the following is TRUE according to the passage?


A. Despite their success, railway mail clerks only handled a small proportion of all non-local mail.

B. The Railway Mail clerk’s job was considered elite because it was safe and exciting.

C. Clerks couldn’t often see what they were doing.

D. The clerk booted out the outgoing mailbag before snatching the incoming bag.
Câu 43. According to the passage, the Railway Mail Service commenced in ______.


A. 1842
B. 1905
C. 1874
D. 1832
Câu 44. What does the passage mainly discuss?


A. How Post Office Trains handled the mail without stopping.

B. How the mail  cranes exchanged the mail.

C. Improvements in mail handling and delivery.

D. The skills of experienced clerks.
Câu 45. The word “glitches” in the third paragraph can be replaced by_______ .


A. advantages
B. problems
C. accidents
D. blames
  Mark the letter A, B, C, or D to show the underlined part that needs correction. 

Câu 46. Lan wishes that he went to the bank this morning before he went to work.            


A. went to work
         B. wishes                    
   C. the bank                            D. went            
Câu 47. Yearly rotation of crops mean growing different crops on the same land from year to year.                                                       


A. yearly rotation                B. different crops               C. same land

  D. mean   
Câu 48. There was a power failure and all the lights went away. 


A. went away                       B. power failure        
C. all the lights                 
  D. there was                      
Câu 49. Harvey never pays his bills on time, and his brother does too                         


A. his                                    B. does too
C. pays his bills                 
  D. on time
Câu 50. We whispered so as to no one could overhear our conversation. 


A. could overhear           
B. whispered                  C. Conversation

 D. so as to            
------ HẾT ------
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